DIvISION: NEGATIVE DECIMAL NUMBERS (H - SET 4)

DIVISION WITH 1 TO 10 Hame
Time: Score: y—

121) 5128.2 = 6 = 136) 99680 = 10 =
122) —627.9 + 10 = 151 —93.96 + 3 =
123 —8038 =~ 1 = 138)  —52464 + 8 =
12 —5]8.7 =7 = 139 3330 10 =
125) —1439.4 = 6 = 1) —2877.3 +9 =
126) 9,824 + 8 = - —4740 + 6 =
127) 27.012 = 4 = 112) 30,452 +4 =
128) 6638.4 = & = 143) —44457 = 7 =
129) —11.242 =7 = 44 271.35 =5 =
130) —455.35 =7 = 1) —10920 =+ 3 =
13) —92063.7 =9 = 146) 43.692 =6 =
132) —823.1 =1 = 17 —3346.4 =8 =
133) 63.189 =9 = 18) 2238 +4 =
139) 57.654 =9 = 149) 128.52 =4 =
135) —94.598 = 4 = 150) 52934 =7 =

Mathematics: Division - Level 6 - Horizontal - Set 4
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